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2 Write the following numbers in order, starting with the smallest.
0.395 0.4 0.38 0.3
0.3 0.38 038 .39
smallest
N
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Write the mass shown on each scale.

(a)

(b)
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0.388

Lk

largest [1]
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3 (a) Workout35% of $275
3 275
|00 '
S 26 QS [2]
(b) A shopkeeper buys a dress for $40
She sells it for $48
Work out the percentage increase in the price of the dress.
Frofit - ug—qo—-$@ |
/ Pr Q J,Lt - )( 100 Z
4  Work out the values of g, b and c.
5
a® 2
126 ¢
NOT TO
> SCALE
/ 54° g7 \3

- 20 . (]

: ]
b+ 54 +37 = 180 e B !
C+37 - )40 o= |l’+9 [1]
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5 A water tank holds 5000 litres of water when full.
The graph shows the amount of water in the tank between 11 00 and 12 30.

5000 |

4000 -—\ /

3000
Litres \ /

2000 -

1000 /

I

F-.
1100 1200 1300 1400

Time

(a) At 11 00 the tank is full.
Write down

(i) how much water is used between 11 00 and 12 30.
5000 - Soo

s —— litres  [1]

@ii) the time at which thereis 2500 litres in the tank.

I = T

(b) No water is used after 12 30. _
At 13 00 the tank is then refilled at a constant rate.
It is full again by 13 45.

Show this information on the graph. [2]
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A fair spinner is in the shape of a regular hexagon.

5

MEMEDHTE T o e i ey o M

(a) Write a number on each section so that the probability of getting an odd
|

number is 3 Ofl Od() ﬁum\:erls

[1]
L eyen ﬂurnbeLefs

(b) What is the probability of not getting an odd number?

L 2

. EIEPPp——L

o e

7  The table shows information about the number of boys and girls in Class A and

Class B.
Complete the table. .
Class A Class B Total

Boys 14 18 32

Girls = 11 At

Total 27 . d9 L6

[2]
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Expand 4b(a — 3).

LAob - 2o

9 (a) Write down the next two terms in this sequence.

1 3.5 6 8.5 | 3.5
R N T

a5 3y t25 +15 +2.5
(b)  Explain how you worked out the next two numbers in part (a).

add 2.5 tOmﬂ@J[ ﬂ\é nex‘t terin

10 Write this number

683.459
(a) correct to 2 decimal places, 6 8?)’ LP 6 ______________
(b) correct to 2 significant figures. | 680 _________
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Ten students take tests in both mathematics and science.
The table shows their test scores.

Student A|B|C|DI|E|F|G|H]|T/|]J

Mathematics 121019 8 |18 |17 5 |15| 3 |14 Z: |&| ‘

Science I5(12(16| 1314169 (176 |I15]| S = |33

o (i g e BWAF | W WANIA R 1IN LTS EWIATTHN o
Sl 3 mm:-m:mLml LR AR LA L PSR S LRI RO T 1-;-111.

(a) Calculate the mean score for mathematics.

| 2\

Ao |‘Q | 2

(b) Complete the scatter graph by showing the scores of students C, D and E.

el ettt ot
Y e fsdad . frandoatond bodd , R ioker FTAE
0 T T : T

0 2 4 6 8 10 12 14 16 18 20

Mathematics
[1]

{¢)  Describe the correlation between the mathematics and the science scores.

‘Lmear ; tnaths TSclence “LSOT [1]
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12 (a) Tania has drawn a plan of her school. E;T_:
€z
7.5m CE
f | C
- classroom T NOT TO ‘
18m
gm ik playground
k |

N

—-—— -

2lm

Work out the area of the playground.
15 210 = 5 m”
Afl - Q% 41 - |b& ml

T
_i
¥

(b) The school has a circular sandpit.
It has a radius of 3 metres.

Work out the area of the sandpit.
Usen = 3.14 or your calculatu{ value.

A::?E]‘"L
= 3y x 3

I €'UCLES 2012 = 111 202/AM2 I
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1 -
23 13 The graph of y = 3x — 2 passes through the point (- 1, a).
L'
12
3 (a) Work out the value of a. L5 ‘j
% — _
< Y=3L-p :
*=3(-1)-X
= -0 a= E [1]

(b)  The same graph passes through the point (b, b).

Work out the value of 4.
b - 3b-2
- b= .. 2

/Q):_Z_Ig ...........................................................

14 A rectangie has width s and length 1.

L )

= ! NOT TO

SCALE

—

(@)  Write down a formula for the area 4 of the rectangle.

A= MGS{ ) [1]

(b)  The rectangle has an area of 42 units squared.,
Write down a formula for # in terms of s. 4 o

= [1]

.............................
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15 The diagram, which is drawn accurately, represents the path taken by a walker.

North

v
"Mmeasy e yse ProtraLtOF

(a) Measure and write down the bearing of B from 4.

40 @

1 centimetre on the diagram represents 2 kilometres.

(b) (i) Measure and write down the distance from A4 to B.

0.6~ 57 em 1

(i) Work out the actual distancein kilometres.

0.6 % & :“1_"4@1 [1]

9.7 x 2
At B the walker turns onto a bearing of 125°.
He walks a further 11 km to a point C.

() On the diagram above, plot this journey from B to C.
Label clearly the point C. [2]

I km = 1T - 5.5 Un
2

© UCLES 2012 1112/020AMM 2
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16 Sanjit collects some data about the ages of people at a cinema one day.

1

He asks 10 people watching film A and 10 people watching film B.

(a) Is the data Sanijit collects Primary or Secondary data?
Give a reason for your answer.

rR‘lmllﬂé
creelly drom people he ashs

(b)  This stem-and-leaf diagram shows Sanjit's data.

Film A Film B
2 2 2 7
8 8 4 3 4 7' 8
9 6 4 4 2 : ] 3 8
9 9 8 2 5

Make one statement to compare the ages of people attending Film A and
Film B.

-----------

nnnnnnnn
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17 The diagram shows a rectangular table.

180cm

A =
'_I ',I"-l'
- R NOT TO
£ 2 SCALE
D

C

Use Pythagoras’ theorem to work out the distance BD.

BD =/ 180+ 35° ,

— 195 om

|95

cm
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18 The equation x° + 3x = 30 has a solution between 4 and 5.
Use trial and improvement to find this solution.
Give your answer to 1 decimal place.

Show your working in the table.
The first line is done for you.
You may not need to use all the lines.

sk i o s eaga e T

LA U] VUL TR I THIR MIA I

i g T

x?+3x= Comment

4 16+12=28 too small

5 o5 +15 43 too  big
4. | 6,91+ 2.3= 2911 | .99 differept juith 30
4.4 12,64+ 12.6= 30.24 | ©. 2y ol|}jeren{ with 36

x= 41 [4]
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